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- ACCOUNTING

Paper : BCM0400204
( Cost Accounting)
Full Marks : 60
Time : 2% hours

The ﬁg_ure's in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer as directed : . 1x8=8
Roft epiR T ot ¢ |
(i) Fixed cost per unit____ with increase-
in output. . (Choose the correct option)
Beolv IR w0et et oS 3BRow B 3w
| (e CeTH! AR Glavedr)
(a) increases ' ’ .
& =
(b) decreases
2 =i
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(i)

(c) does not changé .
(d) None of the above
87T (RICAICHIEE T

Which " of t_hé following 'is not a
technique of costing?

oo (PINCH! R e e
‘(@) Marginal costing

GRS
(b) Standard costing '
RICS S IE

(c) Multiple costing

(i)

=Ry
(d) Absorption costing -

‘ (Choose the correct option)

(% Teth AR Glear)

Define ‘Works Cost’.
PRAN JT'F TR R

BOGFN 0037 2

(iv) Cost of abnormal idle time is
transferred to costing Profit & Loss
Afc. . (State True or False)

| AT OO FoT el T S
o Rpisre sRYe i |
- (Y Y R )
(v) A total of all direct costs is kriown as
(Fill in the blank) -
B L (IR g
(vi) What is Job Car.d.?
Felg e
(vii) ' What is cost centre?
W @ WA B

(viii) When the completion stage of contract
- is less than %, the total expenditure

on the contract is transferred to
' Account. ' (Fill in the blank)

- I bt e e R qe-vpefierets

. T, (oo P I AT FieRe
= = (3T 3% 73 =)
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An‘swef the following : (any six)
2x6=12
wote Tt m ey foral ¢ (ﬁmm =)

(i) Mention the distinctions between
‘costing’ and ‘cost accounting’.

Seotte T Rl GIATT S “Beetit T
- R WerS Al SALTRE SE 4

(i) What is meant by allocation and
.apportlonment of overheads ?

-Wwﬁﬂwﬁmﬁqﬁmﬁswo

. (i) State the differences between fixed

expenses and variable expenses.

ﬁammﬂﬁa@%wwm@m
i

(iv) What are the objectives of process
costing ?

aftral ol SrirT e

(v) What is the need of reconciliation of -

cost and financial accounting ?

@aonmmﬁmwﬁ%fimaﬁw% "

W‘TWWI

BO6FN 0037 4

(vi) A Ltd. has got a demand of its product’
as 10,000 units per year. The cost per
unit is 2 and it costs ¥ 36 to place an:

‘order. The 1nventory carrying cost is
estimated at 9% of cost per unit.
Determine the economic order quantity.

A TfIGre S w4t s AR oIkt
10,000 TG | ACOF T8 BeAMaS 2 Tt
- o 2AfS TS S IR IO 36 B 496
2 | oI} TS 7 Teoivm T 9%. GBRA
oY JAYE IR o wiom oA [l
A

(vii) What is abnormal idle time?
SRR SRR AN A &2
(viii) What is stores ledger?
e Bt 381 e & 3w e

(ix) State two important features of contract
costing.

%m&mﬁﬁr amhﬁ%;ﬁcmwu

" (x). Write the meaning of _]Ob costmg

W@QWWWQI/WI
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3. Answer the following questions : (any four)
| 5x4=20

- Tﬁmm@@ﬁ'm (Rewrea 5135y

(i) Write the advantages of iritegral
v accountlng

ﬁquﬂﬁﬁwﬁﬁwwwn

(ii) What is machine hour rate ? How is it
- calculated ?

zrr@as IR QT 2 W 94991 (&S 11 =2
(iii) Explain the FIFO and LIFO methods of
- pricing materials.
AR LR S B e (FIFO) e
o (LIFO) “i=fe 1ok Raa gt =11
(iv)' How is profit on incomplete contracts

- recognised in the books of g
contractor ?

wﬁﬁaﬁamﬁwm«a@@ mzasw@:f@
= e ‘

(v) What is the purpose of a time and
motion study in labour cost control ?

mmﬁm«m—mwﬁwww
Emﬁw

BO6FN 0037 6
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(vi) . Rashmit Electronics Ltd. furnishes the
following mformatlon : '

TS YErehi f%rﬁz‘m Gmﬁ &l GW |
TS BrEr 39 24 8
: T
‘Opening stock : Raw material - 5,000
Finished goods 4,000
Closing stock : Raw material ' 4,000
Finished goods - . 5,000
Raw material purchased ‘ 50,000
- Wages paid to labourers 20,000
Rent and taxes . 7,400
1Yt W 79 o
Power o 3,000
Office management salary ~ 4,000
BO6FN0037 7 = Contd.



(i) |

Office printing and stationary . 200
TR oG- AN | |
Experimental charges : 600
AT 4 | |
_Bank: charges - -300
T 4D - o
Salaries to salesmen . 2,000 N
Sales 1,00,000 -

Prepare Cost shegt.
BeoAvA TFD! ogS |

A company has four departments. The
actual costs for a period are given
below. Apportion the costs to the
various departments by the most
equitable method.

a5t @IS BIRE Remt @itz <% RS
TN foeTe (R WHIR TS i 2|
Boige R Towe fofe sR wwpom e
401

BO6FN 0037 8 ‘

4. Answer the following : (ariy two)

: <
Rent (S0 ' 2,600
Repairs  (GRIfS) 1,200
Suﬁervision (sgRk4i[) ., 3,000
Insurance () o | 1,00('),

Power (%) - 1,800
(viii) Explain the concept of ABC analysis o
as a technique of inventory control.

Wﬁ%ﬁWWWﬂABC ﬁmw
R vt .

| -10x2=2b.
were fira ehe s o ¢ (Rl q51)

(i) A product passes through two

processes A and B. A loss of 5% in

- process A and 2% in process B is

considered normal. There is no value

of scrap. During January, 2024, 10,000

units of materials, costing ¥ 12 per kg
were introduced in process A.

BO6FN 0037 9 . Contd.



5t TRy BesAR IS 1ol el A Wi B-S
MR 29 2| A A-S 5% WS et
B-S'2% T FIOIRE 1 919 91 Z| 2038
W@Eﬁﬂ% Nze AfF A-S So,000. (SIfER

: mﬂwﬁmsq%‘mﬁr—%m-@m

¥ =

The other cbsts are as follows :

I JITZ 8 |

i Process A | Process B

Maferial o= 16,280
Labour 20,000 12,000
Overhead - 12,000 - 9,200
Output " 9,300 units 9,200 units

T |
° ' Prepare the process account of A and
B and also determine  the value of
abnormal loss or abnormal gain, if any.
A =% B dféal ol 24ge 31| T
wRIeIRe S A wzt@iﬁas e, zrfﬁ LicE|
fefa ==
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(i) What do you mean by labour cost
control ? Calculate the earning of a
worker from the following informations :

(a) Time rate method
(b) Piece rate ipethdd _
(c) Halsey plan rhethod v
(d) Rowan plan method
‘Standard time = 48 hours
. Time taken = 40 hours’

Rate per hour ¥ 10 plus decreases
allowance @ ¥ 2 per hour worked."

mmﬁmiﬁm%{wwﬁmew
21 AR SoATTZ M 7 ¢ :

(@) T TS RS WS
(b) T TS TGR I
"j(c). W@WWW
(d) @RR esaRe bR TS
T P = 48 T
- SFOLS 4T (KN T = 40 I
i\%@w—ww%ﬂmaﬂrzwm
|
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(i) Explain how would you treat the
following items in cost accounts :
2+2+3+3=10

ﬁﬁﬁ% I I T e 9 Rt
P PSR g w 3
(a) Bad debts
AR 711 99
(b) Market research cost
(c) Advertisement
(d) Interest on capital
R

(iv) How does cost accounting help in the
planning and control of operations of a
business enterprise ?

I &SI ARG % Ragre i@vnm
7 2ok @ TR 2
| (vl What is job evalﬁatlon and mérit

rating? How do they help in labour
cost control ?.

wwmwwﬁsﬁﬁaqﬁrﬁmﬁsqm?
WADR Wx 37 fAxgere R sRIw F?

’
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